10

Graph of function f(x)

flx) =x’-0165x*+3.993x10*

Entered hunction on grven imterval




Iteratipn #1

Entered hunchion on grven inkensal with currenl and nest root
and tangent ine: of he: curve at the oument rool

- x, =0.02
PN '“

¥ 00002 | 0 f '(}{fn)
- 3.413x10™

007 U oz 004 006 008N\ 01 012 X, =(.02 "
0.0001- ¥ \ —54){10
00002 =0.08320

o —=75.96%

Eﬂ

— Findion
s ), Cumrent rool
1, New rool
Tangenl ine




*

Iteratig_n H2

Enbored hunciion on given inkenzal with cumment and mosd noot
and tangent ne: of the cunse at the ourent root

-
(ILLIcY

CuN)E

00001 -

qnp ©
0D -

00002

SLLLLIEY

002 004 OOB 008 01 012
X
Fundclion

e 5, Cammond rood

Py road
'I?'mlin

x, =0.08320
Ay Sl Jf,(xl}
/'(x,)
4
X, —0.08320 — 1.670:{10_3
—6.689x10
=0.05824

=42 .86%

<.




Iteratig_n #3

Enbered hnclion on given inbensal with cament and nest root
and tangent ine of the curve al the oument pood

U x, =0.05824
i /)
S .
¥ o000z ¥ (Iz]
_ —5

0.0001 —0.05384 — 3.717x10 _
e —9.043x10 "

00001 =0.06235

00002 le,| =6.592%

00003




Advantages

-

= Converges fast, if it converges
= Requires only one guess
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